
CHEMISTRY

BOOKS - SHARAM PUBLICATION

GROUP 15 ELEMENTS (NITROGEN

FAMILY

Exercise

1. Which of the following does not form a

pentahalide ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LURITgZy8p55


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

P

As

Sb

N

2. The element which forms oxides in all

oxidation states from +1 → + 5

https://dl.doubtnut.com/l/_LURITgZy8p55
https://dl.doubtnut.com/l/_5IDPc5YOzABo


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

N

P

As

Sb

3. Which of the following is the increasing

order of enthalpy of vaporization ?

https://dl.doubtnut.com/l/_5IDPc5YOzABo
https://dl.doubtnut.com/l/_VMEgm1FLUAfi


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NH3, PH3, AsH3

AsH3, PH3, NH3

NH3, AsH3, PH3

PH3, AsH3, NH3

4. Electronic configuration of 

elements is

Gr − 15

https://dl.doubtnut.com/l/_VMEgm1FLUAfi
https://dl.doubtnut.com/l/_q9ruem5bg1Wm


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ns2np1

ns2np2

ns2np3

ns2np4

5. Sodium nitrate on heating with zinc dust

and caustic soda gives

https://dl.doubtnut.com/l/_q9ruem5bg1Wm
https://dl.doubtnut.com/l/_TSkOGG90kyS4


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NH3

NaNO2

NO2

N2O

6. In the manufacture of safety match sticks we

use

https://dl.doubtnut.com/l/_TSkOGG90kyS4
https://dl.doubtnut.com/l/_ZuHC1gQIzQWm


A. White P

B. Black P

C. Violet P

D. Red P

Answer:

Watch Video Solution

7.  is prepared by the reaction of :

A. P and 

PH3

H2SO4

https://dl.doubtnut.com/l/_ZuHC1gQIzQWm
https://dl.doubtnut.com/l/_mfMrNNRQeuRm


B. P and 

C. P and 

D. P and 

Answer:

Watch Video Solution

NaOH

H2S

HNO3

8. With excess of   gives :

A. 

B. 

Cl2 NH3

NCl3

HCl

https://dl.doubtnut.com/l/_mfMrNNRQeuRm
https://dl.doubtnut.com/l/_VmxoHIAV5MzK


C. 

D. 

Answer:

Watch Video Solution

NH4Cl

N2O

9.  , is a Lewis base. It forms complexes

with cations. Which one of the following

cations does not form complex with ?

A. 

NH3

NH3

Ag+

https://dl.doubtnut.com/l/_VmxoHIAV5MzK
https://dl.doubtnut.com/l/_X74Fpm1cuGj9


B. 

C. 

D. 

Answer:

Watch Video Solution

Cu2 +

Cd2 +

Pb2 +

10. Pure  can be obtained by:.

A. 

B. 

N2

NH3 and CuO

NH4NO3

https://dl.doubtnut.com/l/_X74Fpm1cuGj9
https://dl.doubtnut.com/l/_SUubFvvb1I9C


C. 

D. 

Answer:

Watch Video Solution

(NH4)2Cr2O7

Ba(N3)2

11. The gas obtained by heating  is

A. 

B. 

C. 

NH4NO2

N2O

N2

N2O3

https://dl.doubtnut.com/l/_SUubFvvb1I9C
https://dl.doubtnut.com/l/_VjcGVfonshnK


D. 

Answer:

Watch Video Solution

NO2

12. The anhydride of  , is

A. 

B. 

C. 

D. 

HNO2

NO

N2O3

N2O

N2O5

https://dl.doubtnut.com/l/_VjcGVfonshnK
https://dl.doubtnut.com/l/_pq1ycIFA3iVk


Answer:

Watch Video Solution

13. Which form of phosphorus is most stable?

A. Red P

B. White P

C. Black P

D. All are stable

Answer:

https://dl.doubtnut.com/l/_pq1ycIFA3iVk
https://dl.doubtnut.com/l/_Q8orh6S1JyBJ


Watch Video Solution

14. Which of the following does not exists?

A. 

B. 

C. 

D. SbCl_5`

Answer:

Watch Video Solution

NCl5

AsF5

PF5

https://dl.doubtnut.com/l/_Q8orh6S1JyBJ
https://dl.doubtnut.com/l/_7zF1E2Q1VZdo


15. Which of the following is most explosive?

A. 

B. 

C. 

D. all

Answer:

Watch Video Solution

NCl3

PCl3

AsCl3

https://dl.doubtnut.com/l/_7zF1E2Q1VZdo
https://dl.doubtnut.com/l/_6Ka3IPMbiY9Y


16. Which of the following oxides combines

with Fe(II) ions to form a brown complex?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

N2O

NO

N2O5

N2O3

https://dl.doubtnut.com/l/_FhWgCoFDoDnE
https://dl.doubtnut.com/l/_k2FrKlpwXxCd


17. Oxidation state of nitrogen in  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NH3

+2

+3

−3

−2

https://dl.doubtnut.com/l/_k2FrKlpwXxCd


18. The least stable hydride of 15th group

elements is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NH3

PH3

AsH3

BiH3

https://dl.doubtnut.com/l/_Z71egSU2UhRU
https://dl.doubtnut.com/l/_lwLiMZdkGxNy


19. A hydride of nitrogen which is acidic is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NH3

N2H4

N2H2

N3H

https://dl.doubtnut.com/l/_lwLiMZdkGxNy


20. The element which catches fire in air at

 and is stored under water is :

A. 

B. 

C. White P

D. 

Answer:

Watch Video Solution

30∘C

Ca

Na

Sr

https://dl.doubtnut.com/l/_jdqwPXbcd3np
https://dl.doubtnut.com/l/_y9BAtjW3GY3U


21. Which of the following is more acidic ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

N2O5

P2O5

As2O3

Sb2O5

https://dl.doubtnut.com/l/_y9BAtjW3GY3U


22. Which one of the following is

Pyrophosporic acid ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

H3PO4

H4P2O7

H4P2O5

H3PO3

https://dl.doubtnut.com/l/_q7adY6ytiRc7
https://dl.doubtnut.com/l/_KEHYbsse386E


23.  is:

A. tribasic acid

B. a monobasic acid

C. a dibasic acid

D. neutral

Answer:

Watch Video Solution

H3PO3

24. Which element is most metallic:

https://dl.doubtnut.com/l/_KEHYbsse386E
https://dl.doubtnut.com/l/_RSWptARJMl8z


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

P

As

Sb

Be

25. Which of the following is least reactive ?

A. N

https://dl.doubtnut.com/l/_RSWptARJMl8z
https://dl.doubtnut.com/l/_4dDSWNYpq5jU


B. 

C. 

D. 

Answer:

Watch Video Solution

P

As

Bi

26. Nitrogen is produced by heating :

A. 

B. 

HNO3

NH4Cl

https://dl.doubtnut.com/l/_4dDSWNYpq5jU
https://dl.doubtnut.com/l/_MiJk7AOge5zW


C. 

D. 

Answer:

Watch Video Solution

NH4NO3

NH4Cl + NaNO2

27. Phosphide ion has the electronic structure

similar to that of:

A. Nitride ion

B. Fluoride ion

https://dl.doubtnut.com/l/_MiJk7AOge5zW
https://dl.doubtnut.com/l/_AfRC7nX7RUIH


C. Chloride ion

D. Sodium ion

Answer:

Watch Video Solution

28. A hydride of nitrogen having lowest

oxidation number of N:

A. 

B. 

H3N

N3H

https://dl.doubtnut.com/l/_AfRC7nX7RUIH
https://dl.doubtnut.com/l/_orf9LWtKz99I


C. 

D. 

Answer:

Watch Video Solution

H4N2

H2N2

29. Which does not give ammonia with water?

A. 

B. 

C. 

Mg3N2

AlN

CaCN2

https://dl.doubtnut.com/l/_orf9LWtKz99I
https://dl.doubtnut.com/l/_093JXcAzloGZ


D. 

Answer:

Watch Video Solution

Ca(CN)2

30. White smoke is formed when ammonia gas

meets with:

A. 

B. 

C. 

H2O

HCl

H2SO4

https://dl.doubtnut.com/l/_093JXcAzloGZ
https://dl.doubtnut.com/l/_svUPpf3zDTdH


D. 

Answer:

Watch Video Solution

HNO3

31. The catalyst used in the manufacture of

from  is :

A. 

B. 

C. 

HNO3 NH3

Ni

Fe

Pt

https://dl.doubtnut.com/l/_svUPpf3zDTdH
https://dl.doubtnut.com/l/_9meoLq3AcF8W


D. 

Answer:

Watch Video Solution

V2O5

32.  exists but  does not because,

A. Nitrogen has no vacant d- orbitals

B.  is unstable

C.  is inert

D. None

PCl5 NCl5

NCl5

N2

https://dl.doubtnut.com/l/_9meoLq3AcF8W
https://dl.doubtnut.com/l/_2ORw9BEzn5aS


Answer:

Watch Video Solution

33. Which one oxide is most basic

A. 

B. 

C. 

D. 

Answer:

N2O3

P2O3

As2O3

Bi2O3

https://dl.doubtnut.com/l/_2ORw9BEzn5aS
https://dl.doubtnut.com/l/_c1Ke9bvp4YJ7


Watch Video Solution

34. Liquid ammonia bottles be opened after

cooling them in ice for sometime. It is because

liquid :

A. Brings tears to eyes

B. Has high vapour pressure

C. Is a corrosive liquid

D. Is a mild explosive

Answer:

NH3

https://dl.doubtnut.com/l/_c1Ke9bvp4YJ7
https://dl.doubtnut.com/l/_7Gk7S9j9Bo6o


Watch Video Solution

35. Red P on heating with gives :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

HNO3

HPO2

H2PO2

H3PO4

HPO3

https://dl.doubtnut.com/l/_7Gk7S9j9Bo6o
https://dl.doubtnut.com/l/_KXh2Ur1LFZ5H


36. The basicity of orthophosphoric acid is:

A. 2

B. 3

C. 4

D. 5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_KXh2Ur1LFZ5H
https://dl.doubtnut.com/l/_ujaNPjGGPs8H


37. Catalytic oxidation of ammonia by passing

a mixture of ammonia and air over heated

platinum guage gives

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NO

N2O

N2O3

N2O5

https://dl.doubtnut.com/l/_8z4T0SS0YRAE


38. Which halide of nitrogen is least basic?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NF3

NCl3

NBr3

NI3

https://dl.doubtnut.com/l/_uTGINzLLDvB5


39. Non- combustible hydride is:

A. 

B. 

C. AsH_3`

D. 

Answer:

Watch Video Solution

NH3

PH3

SbH3

https://dl.doubtnut.com/l/_eQu99C7Y5hjo


40. Atomicity of phosphorus is:

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_cQnYgzC0oduI


41. Structure of ammonia is:

A. trigonal

B. tetrahedral

C. pyramidal

D. trigonal pyramidal

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_umAORxhLcxlP


42. Gr 15 elements are commonly known as :

A. Halogens

B. Alkali Earth Metals

C. Pnicogens

D. Noble Gases

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bkJQGtbwfdiN


43. Which of the following is tetrabasic acid ?

A. Orthophosphoric acid

B. Orthophosphurous acid

C. Metaphosphoric acid

D. Pyrophosphoric acid

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ACZxbJxTVwcv


44. Which of the following does not form

penta chloride ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

P

As

Sb

Bi

https://dl.doubtnut.com/l/_T8OfImnv3P8r
https://dl.doubtnut.com/l/_UjrW5Y0mbqGI


45. Anomalous behaviour of nitrogen is due

to:

A. Small size and high electronegativity

B. Non - availability of d- orbitals in valence

shell

C. Ease of multiple bond formation

D. All are correct

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_UjrW5Y0mbqGI
https://dl.doubtnut.com/l/_EBwsb0aiRB4M


46. The basic character of hydrides of the VB

group elements decreases in the order:

A.  gt AsH_3 gt NH_3`

B. 

C. 

D. 

Answer:

Watch Video Solution

SbH3 > PH3

NH3 > SbH3 > PH3 > AsH3

NH3 > PH3 > AsH3 > SbH3

SbH3 > AsH3 > PH3 > NH3

https://dl.doubtnut.com/l/_EBwsb0aiRB4M
https://dl.doubtnut.com/l/_dQj5ZDOGwc0c


47. In  each 'P' atom is liked with ……..

Oxygen atoms

A. 2

B. 3

C. 4

D. 5

Answer:

Watch Video Solution

P4O10

https://dl.doubtnut.com/l/_dQj5ZDOGwc0c


48. What happens when ammonium chloride is

heated with quick lime?

Watch Video Solution

49. What happens when magnesium nitride is

boiled with water ?

Watch Video Solution

50. Which is the anhydride of  ?HNO3

https://dl.doubtnut.com/l/_gb53gfvI1HPE
https://dl.doubtnut.com/l/_wxKAfNNwmBFM
https://dl.doubtnut.com/l/_hy4wA427c7Ek


Watch Video Solution

51. Which catalyst is used in the manufacture

of ammonia by Haber's process ?

Watch Video Solution

52. What is the basicity of  ?

Watch Video Solution

H3PO4

https://dl.doubtnut.com/l/_hy4wA427c7Ek
https://dl.doubtnut.com/l/_vz1dJ7a49GK4
https://dl.doubtnut.com/l/_XuOcYTf1GRMC


53. Name the catalyst used in the manufacture

of nitric acid by Ostwald process.

Watch Video Solution

54. Among ,  ,  and 

which is least basic ?

Watch Video Solution

SbH3 PH3 NH3 AsH3

55. Why  is not formed?NCl5

https://dl.doubtnut.com/l/_wSLUVaHZMAi6
https://dl.doubtnut.com/l/_EvyUQoEQ6SpX
https://dl.doubtnut.com/l/_GBpDSsRcBox9


Watch Video Solution

56. Why is  , less reactive at room

temperature?

Watch Video Solution

N2

57. Among ,  ,  and  which

is least acidic?

Watch Video Solution

SbH3 PH3 NH3 AsH3

https://dl.doubtnut.com/l/_GBpDSsRcBox9
https://dl.doubtnut.com/l/_oWV40ZarYmJU
https://dl.doubtnut.com/l/_FW5A8CIhSTxq
https://dl.doubtnut.com/l/_BovVGekcDBti


58. What happens when  ,  is

heated ?

Watch Video Solution

(NH4)2 Cr2O7

59. Which allotrope of phosphorus is more

reactive and why?

Watch Video Solution

https://dl.doubtnut.com/l/_BovVGekcDBti
https://dl.doubtnut.com/l/_EIXy196qUFfK


60. What is the oxidation number of  in 

 ?

Watch Video Solution

P

(H2PO4)1 −

61. Why is white phosphorus kept under water

?

Watch Video Solution

https://dl.doubtnut.com/l/_JpIcKI5FErGd
https://dl.doubtnut.com/l/_Zc2WQ4IunD85


62. Which gas is librated when  is

heated ?

Watch Video Solution

NH4NO2

63. Between nitrogen and phosphorus, which

has more catenating property ?

Watch Video Solution

https://dl.doubtnut.com/l/_WRmPlsG0MezR
https://dl.doubtnut.com/l/_KJIXiwlToDqW


64. Fill in the blanks : With excess of 

ammonia forms …………

Watch Video Solution

Cl2

65. Nitrogen does not form pentahalides.

Why?

Watch Video Solution

https://dl.doubtnut.com/l/_Re5wKFkSujdt
https://dl.doubtnut.com/l/_yVSsSKybXwQ7


66. Fill in the blanks : The formula of acidic

nitrogen hydride is ………….

Watch Video Solution

67. Fill in the blanks : The P- P-P angle in 

molecule is …………..

Watch Video Solution

P4

https://dl.doubtnut.com/l/_21FLDy4gWTTC
https://dl.doubtnut.com/l/_IyE1woJoDCtr


68. Fill in the blanks : ……………. Is obtained when

white phosphorus is heated with an aqueous

solution of  in an inert atmosphere.

Watch Video Solution

NaOH

69. Fill in the blanks : is …………….. While 

 is ………. .

Watch Video Solution

As2O3

Sb2O3

https://dl.doubtnut.com/l/_s7bXUDNXJBPM
https://dl.doubtnut.com/l/_AgWwKOZRBmmO


70. Fill in the blanks : Red phosphorus is …………

reactive than white phosphorus as red

phosphorus is and consists of ………….. Of 

units

Watch Video Solution

P4

71. Fill in the blanks :  on heating

gives ………… gas.

Watch Video Solution

NH4NO2

https://dl.doubtnut.com/l/_LupurWkvu5Df
https://dl.doubtnut.com/l/_6x9KGu7sazQs
https://dl.doubtnut.com/l/_nVA0eSFGJFSu


72. Fill in the blanks : …………… element of Gr - 15

is the most abundant in earth crust.

Watch Video Solution

73. Fill in the blanks : Aqueous solution of

ammonia contains ……….. .

Watch Video Solution

https://dl.doubtnut.com/l/_nVA0eSFGJFSu
https://dl.doubtnut.com/l/_xbcBjjN9pN2i


74. Fill in the blanks : The basicity of  is

…………

Watch Video Solution

H3PO3

75. Fill in the blanks : The formula of

pyrophosphorus acid is ………….

Watch Video Solution

https://dl.doubtnut.com/l/_x0VuTztb5j4A
https://dl.doubtnut.com/l/_lDWomrad5aiS


76. Fill in the blanks : In Brown ring test for

 ion,  ion combine with ………. To

give a reddish brown coloured complex.

Watch Video Solution

NO−
3 Fe2 +

77. Fill in the blanks :  acts as a lewis base

due to …………..

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_8h2wPEJFvKjf
https://dl.doubtnut.com/l/_Jvf9IBQ4q8OA


78. Fill in the blanks : The hydride of Gr 15

element used as refrigerant is …………..

Watch Video Solution

79. How does ammonia react with a solution of

 ?

Watch Video Solution

Cu2 +

https://dl.doubtnut.com/l/_tMww1GSX3KYV
https://dl.doubtnut.com/l/_2E9IBKYUaNNZ


80. Mention the conditions required to

maximise the yield of ammonia.

Watch Video Solution

81. Write the reaction of thermal

decomposition of sodium azide.

Watch Video Solution

https://dl.doubtnut.com/l/_1fg8fM9fJIzs
https://dl.doubtnut.com/l/_4Ha7Qa5CxjlD


82. Why , has lower boiling point than 

?

Watch Video Solution

PH3

NH3

83. Why  dimerise to  ?

Watch Video Solution

NO2 N2O4

84.  exists but  does not because,

Watch Video Solution

PCl5 NCl5

https://dl.doubtnut.com/l/_g4xopp6b7Goj
https://dl.doubtnut.com/l/_RNdwndNB2aBa
https://dl.doubtnut.com/l/_3gkk47Ye4hc2


85. Nitrogen does not form pentahalides.

Why?

Watch Video Solution

86. Why Bi does not form pentahalide ?

Watch Video Solution

87. Why is  more basic than  ?NH3 PH3

https://dl.doubtnut.com/l/_3gkk47Ye4hc2
https://dl.doubtnut.com/l/_LZsYlqSolCQE
https://dl.doubtnut.com/l/_T8kwHkGp4Uaj
https://dl.doubtnut.com/l/_FSMDS5Px6wDW


Watch Video Solution

88. Account for the 

Phosphorous shows high tendency for

catenation

Watch Video Solution

89. Explain, why stability of +5 oxidation state

decreases down the group 15 of the periodic

table?

https://dl.doubtnut.com/l/_FSMDS5Px6wDW
https://dl.doubtnut.com/l/_y4ugXR9bCvEd
https://dl.doubtnut.com/l/_Rovao5AWpwKH


Watch Video Solution

90. Why is  dibasic , even though it

contains three H-atoms ?

Watch Video Solution

H3PO3

91. Why does metallic character of Gr 15

elements increases down the group ?

Watch Video Solution

https://dl.doubtnut.com/l/_Rovao5AWpwKH
https://dl.doubtnut.com/l/_x4ggF8gdK0pg
https://dl.doubtnut.com/l/_F6McgNVGsLgm
https://dl.doubtnut.com/l/_Q6wSQM58Mb32


92. On moving down the group, the covalent

and ion radii increases with increase in atomic

number. Why ?

Watch Video Solution

93. Why does nitrogen exist as a diatomic

molecule and is a gas at room temperature ?

Watch Video Solution

https://dl.doubtnut.com/l/_Q6wSQM58Mb32
https://dl.doubtnut.com/l/_8vpSeE6Ag9ls


94. What happens when aqueous solution of

 reacts with  solution ?

Watch Video Solution

NH3 AlCl3

95. What happens when dil  is added

to  precipitate ?

Watch Video Solution

NH4OH

AgCl

https://dl.doubtnut.com/l/_alNUhGMKr4q8
https://dl.doubtnut.com/l/_RYWWqnfjYtbs


96. What are the favourable conditions for

synthesis of  by Haber s process ?

Watch Video Solution

NH3 '

97. The b.p of hydrides of Group 15 increase

regularly as we move from  to  but

b.p of  is higher than those of  and 

. Why ?

Watch Video Solution

PH3 BiH3

NH3 PH3

AsH3

https://dl.doubtnut.com/l/_E2rlygh6gXd8
https://dl.doubtnut.com/l/_WKholubbAhbL
https://dl.doubtnut.com/l/_yPaCbrEurZ7y


98. Explain why the reducing power for the

hydrides of Gr-15 increases down the group

Watch Video Solution

99.  is stable, but   and 

are unstable. Why ?

Watch Video Solution

NF3 NCl3 NBr3 NI3

https://dl.doubtnut.com/l/_yPaCbrEurZ7y
https://dl.doubtnut.com/l/_R7YuXiV2QRIQ


100. What is the action of  and 

with water ?

Watch Video Solution

SbCL3 NCl3

101. Why does nitrogen show anomalous

behaviour ?

Watch Video Solution

https://dl.doubtnut.com/l/_Iy6ZJ0AIsEHS
https://dl.doubtnut.com/l/_IgkglJBAsHMH


102. What happens when ammonium

dichromate is heated ?

Watch Video Solution

103. What is the action of  with calcium

carbide ?

Watch Video Solution

N2

https://dl.doubtnut.com/l/_SPQ2tGbyPIZ3
https://dl.doubtnut.com/l/_2hEQy5IRe7kM


104. What happens when  is added

to  solution ?

Watch Video Solution

dilNH4OH

CrCl3

105. How is  converted to urea ?

Watch Video Solution

NH3

106. What happens when  is passed over

molten sodium ?

NH3

https://dl.doubtnut.com/l/_mjAXVE6ot1lc
https://dl.doubtnut.com/l/_78Od87NuJ1PK
https://dl.doubtnut.com/l/_TWfxBWYWjl9o


Watch Video Solution

107. What happens when white phosphorus

burns in air ?

Watch Video Solution

108. Why is red phosphorous is less than

reactive white phosphorous ?

Watch Video Solution

https://dl.doubtnut.com/l/_TWfxBWYWjl9o
https://dl.doubtnut.com/l/_j6nIKs4OyUpg
https://dl.doubtnut.com/l/_4FdGujctj5MJ
https://dl.doubtnut.com/l/_uIPC5grsjCMA


109. Explain, why is a complexing agent ?

Watch Video Solution

NH3

110. Give one method of preparation of 

in the laboratory. How does  react with 


 solution.

Watch Video Solution

NH3

NH3

CuSO4

https://dl.doubtnut.com/l/_uIPC5grsjCMA
https://dl.doubtnut.com/l/_djpbnWoQPEwy


111. Give one method of preparation of  in

the laboratory. How does  react with 


With less and excess chloride..

Watch Video Solution

NH3

NH3

112. What are different Oxoacids of

phosphorus ?What is the basicity of each one

?

Watch Video Solution

https://dl.doubtnut.com/l/_JFZ8slPxMNL3
https://dl.doubtnut.com/l/_sLYUsyhOCpP2
https://dl.doubtnut.com/l/_s0AhN3qB2YAc


113. How will you prepare phosphorus penta

chloride from phosphorus ? Draw its structure

?

Watch Video Solution

https://dl.doubtnut.com/l/_s0AhN3qB2YAc

